BMOH N R E

AR A 4A

A A EOE HRR A A B

THE PR ET



T + B E2)
1. THE4 WA HEhHGE A~ TRE LG Al T
2. B4 HBE [ B B E
FIETA R
3. THERT (B) FHER FEH FEEX ¥AE (KP 11.2)
(F) FHER Ugnal Sl (KP 24.4)
(B) F#ER FEH ARJIX RART (KP 18.1)
(FE) THER TED WMEX FEAR (KP 23.5)
()
(€D)
€ED)
(€D)
¢ED)
=)
4. THNE
AR LS E U 393m
BRI 115m2
Wi s T 10810L
V< B IExR T 3719m2
TRAEEEE R T 243m
ASHE T 334
PEKERE L 27 A
AT s T 21L& AT
5. 8  # B &F 44 9H 21H ~ = &S T4 8A 11H (1050HFH)



T # 4 | RERE B EE B~ THLRGEME T
LR
H B fr | 4% i MMoBl N R
WiEm IR AL A1 264, 490, 700
i 25 i O x| 1 149, 595, 485 | {hffFdkE (%L 393 m
393
BRRRET EV 6,481,566 |@EREELE () 40 il
40
BRREEE (GatTN ) 73 o
73
BIFWLE (BRMED) 2 of
2
BRI 34 m
34
W& e L EVN 61,791,341 |OOVEINEATL 6 m
6
Wi 18 T 10, 810 L
10, 810
227 ) — MR ALE T 3,719 n
3,719
13 < FEBG IERERT A1 42,495,203 |B 3,719 nt
3,719
KR L K1 4,127,105 |z 7V — NREPE T 143 ot
143
MET A1 236, 450, 553
Z Ol P L A1 197,930,653 |A 16 m
B 4 m
A 0.41 m3
A () 5 m3
B 4 m3
A () 3 m 2
A 139 m
B 48 m
B (%) 56 m
KBS A 1 31 H
FKBIEEA 1 (1R) 1 =
KBS A 2 1 pre
A 10 &
A (&) 7 T
B 10 (080
A 1 T
B 1 (080
A () 1 fEHT
1 =
1 =
1 =




i
Fi

T % % [ RBR A B dE  m A~ T L RERmE L&
H B fr | & 4% i MMoBl N R
1 =
AL T EVEEN 22,919,600 |BHFH L XN 24 ]
24 5]
FREM L XNXM 174 =}
174 5]
AR A ) T 54 5]
54 5]
MR LTS K1 15, 600, 300 |22 iEEARH 252 NG
252 A+ H
AR 2 B 533 N
533 A+ H
B T &t A1 500, 941, 253
Ik T A |1 42, 388, 730
Hefif T35 = |1 46,016 |7 Ot Yl T 1 =
I fi T X |1 42,342,714 | T#% 1 =
BEh e TH 1 =
e T (BRI ) 1 =
S R 1 =
Z OO L2 1 =
EETHEE F K |1 543, 329, 983
R K |1 69, 454, 670
R & EVE 2,553,670 | = Do Im ik Ey 1 =
e By K |1 66, 901, 000
Bl E Bt K |1 197, 301, 500
M THEE § K |1 266, 756, 170
T K |1 810, 086, 153
—RE RS K |1 84, 963, 847
THAfiks K |1 895, 050, 000




